EARAROBEEIERT — 2 N— IBISH —F

20175 7H308 (B) 6EEH4H

m C2—-7 C2 ¥5%—M (xwlw | lmEmml - |5 ) w8
[A&4] 1 #%:300,00 M ~ 2#%&:7500MH ~ 3#%:3800MH / 43%:22,000HMH  57%:15000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N NGUEEEPER i3 5_3351% 1:(2_6).1 1-2-1-1 [40.3| — 3 | 483 Z‘fiiﬁ% (30
R:TLPFFE2Ts BEI-ULAFI (=1 T E%S
2 FREEE -26. —6-5- 0| - RER= (5
ol5|5| IXEXNL 4 3 g 1(12/62)2 5-6-5-2 | 40.0 2 (4:35) ;E%
Z:aArFaMdy b B:E14T7 /TR EvJlLy RIT7—L
TR i o4 | EESRI 1:26.4 9-9-9-7 [39.4| — 1 463 | BHRE= (SH)
3K 3 [« 56.0 ) (-4) (F) J P N3
RRAFNTT B v—THyh— B HE
o & LHIFE : -3-3- — AR ()
4188|701y T7RNAHE— #7150 1'(257)'4 2o a4 ’ 3165) chig3l +
LT R4 YT vix> 877293V K KEHS
. . 43 | KHRKE 1:27.7 4-4-3-6 | 41.7| — 5 437 | KEAEER (BF)
EH 6| Bv 7= 56?0 (11/2) (+4) (F) J P N#HR
L:¥rs/0704 B:AvIT+—T1 R A2
S8 = = it o4 | THER 1:27.8 6-1-1-3 | 42.0| — 6 | 460 |FEIEEH (FH)
6111 IA2>TAT77T4 53.0 (172) (o) |HZEAE
LG4 7 hT—IEY B:v—t> FERS
D e it 4 | FERSH 1:27.9 3-5-5-5 | 41.7| — 7 443 | ARAEER (BA)
]2 Hro-XE> 54.0 (7€) 3 | (B J PN
RO-YRAA1 BITF—ZrTMY B OES
>R # 6 | AIEE 1:28.0 7-7-7-9 | 41.3| — 8 491 | BURFEE (A
8|8lo|FT—NTTIR 755.0 R (1) | WERAE
RN=—VFINTy 1 BILTIyY W =
— o ossL A _ o4 | BURFER 1:28.3 8-8-8-8 |41.5| — 4 504 | RURFEE] (&)
9l7|7| 21> T724% #55.0 (1 1/2) (o1) | ISR
R:xA1=d7— B:TF47>XEy b CEberae]
® I—F—@EBIERL
|S=7r= 4,8,2,6,5,1,9,7,3
Ao=5"= 1,4,8,6,2,5,9,7,3
31—7F— (1,4),(6.8),(2,5),9,7,3
43—+ — 4,5,1,8,2,6,3,7,9
[ N5
B 4 810M 794K 4-5 210 & 4-5 1,030H &R 3-4-5 310
# B 4 170M 3-4 150M B E 4-5 780 EE 4-5-3 3,210
5 120 3-5 1104 B H 4-5 2,800
3 1009

ABICOVWTRDTEEERROODE. TR LIV,




